# The Bivariate Rogers-Szegö Polynomials

William Y. C. Chen<sup>1</sup>, Husam L. Saad<sup>2</sup>, and Lisa H. Sun<sup>3</sup>

<sup>1,2,3</sup>Center for Combinatorics, LPMC Nankai University Tianjin 300071, P.R. China

<sup>2</sup>Department of Mathematics, College of Science, Basrah University, Basrah, Iraq

<sup>1</sup>chen@nankai.edu.cn, <sup>2</sup>hus6274@hotmail.com, <sup>3</sup>sun@cfc.nankai.edu.cn

**Abstract.** We obtain Mehler's formula and the Rogers formula for the continuous big q-Hermite polynomials  $H_n(x; a|q)$ . Instead of working with the polynomials  $H_n(x; a|q)$  directly, we consider the equivalent forms in terms of the bivariate Rogers-Szegö polynomials  $h_n(x, y|q)$ recently introduced by Chen, Fu and Zhang. It turns out that Mehler's formula for  $H_n(x; a|q)$ involves a  $_3\phi_2$  sum, and the Rogers formula involves a  $_2\phi_1$  sum. The proofs of these results are based on parameter augmentation with respect to the q-exponential operator and the homogeneous q-shift operator in two variables.

**Keywords:** The bivariate Rogers-Szegö polynomials, the continuous big q-Hermite polynomials, the Cauchy polynomials, the q-exponential operator, the homogeneous q-shift operator

AMS Classification: 05A30, 33D45

#### 1. Introduction

In this paper, we obtain two formulas for the continuous big q-Hermite polynomials  $H_n(x; a|q)$ which can be considered as extensions of Mehler's formula and the Rogers formula for the q-Hermite polynomials  $H_n(x|q)$ .

Let us review the common notation and definitions for basic hypergeometric series in [11]. Throughout this paper, we assume that |q| < 1. The q-shifted factorial is defined by

$$(a;q)_0 = 1, \quad (a;q)_\infty = \prod_{k=0}^\infty (1 - aq^k), \quad (a;q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \ n \in \mathbb{Z}.$$

The following notation stands for the multiple q-shifted factorials:

$$(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \cdots (a_m; q)_n, (a_1, a_2, \dots, a_m; q)_\infty = (a_1; q)_\infty (a_2; q)_\infty \cdots (a_m; q)_\infty.$$

The q-binomial coefficients, or the Gauss coefficients, are given by

$$\begin{bmatrix} n\\k \end{bmatrix} = \frac{(q;q)_n}{(q;q)_k(q;q)_{n-k}}$$

The basic hypergeometric series  $_{r+1}\phi_r$  are defined by

$${}_{r+1}\phi_r\left(\begin{array}{c}a_1,\ldots,a_{r+1}\\b_1,\ldots,b_r\end{array};q,x\right) = \sum_{n=0}^{\infty} \frac{(a_1,\ldots,a_{r+1};q)_n}{(q,b_1,\ldots,b_r;q)_n}x^n.$$

The continuous big q-Hermite polynomials are defined as

$$H_n(x;a|q) = \sum_{k=0}^n {n \brack k} (ae^{i\theta};q)_k e^{i(n-2k)\theta}, \quad x = \cos\theta.$$

We first observe that the bivariate Rogers-Szegö polynomials  $h_n(x, y|q)$  introduced by Chen, Fu and Zhang [8] can be used to derive identities for the continuous big q-Hermite polynomials owing to the following relation:

$$H_n(x;a|q) = e^{in\theta} h_n(e^{-2i\theta}, ae^{-i\theta}|q), \quad x = \cos\theta,$$
(1.1)

where  $h_n(x, y|q)$  are defined as follows. Let

$$P_n(x,y) = (x-y)(x-qy)\cdots(x-q^{n-1}y)$$

be Cauchy polynomials with the generating function

$$\sum_{n=0}^{\infty} P_n(x,y) \frac{t^n}{(q;q)_n} = \frac{(yt;q)_{\infty}}{(xt;q)_{\infty}}, \quad |xt| < 1.$$
(1.2)

Then the bivariate Rogers-Szegö polynomials are given by

$$h_n(x,y|q) = \sum_{k=0}^n \begin{bmatrix} n\\ k \end{bmatrix} P_k(x,y).$$

The Cauchy polynomials  $P_n(x, y)$  naturally arise in the *q*-umbral calculus as studied by Andrews [2, 3], Goldman and Rota [12], Goulden and Jackson [13], Ihrig and Ismail [14], Johnson [17], Roman [22]. The generating function (1.2) is the homogeneous version of the Cauchy identity, or the *q*-binomial theorem [11]:

$$\sum_{k=0}^{\infty} \frac{(a;q)_k}{(q;q)_k} z^k = \frac{(az;q)_{\infty}}{(z;q)_{\infty}}, \quad |z| < 1.$$
(1.3)

The polynomials  $h_n(x, y|q)$  have the generating function [8]

$$\sum_{n=0}^{\infty} h_n(x, y|q) \frac{t^n}{(q;q)_n} = \frac{(yt;q)_\infty}{(t, xt;q)_\infty}, \quad |t|, \ |xt| < 1.$$
(1.4)

Notice that the classical Rogers-Szegö polynomials

$$h_n(x|q) = \sum_{k=0}^n \begin{bmatrix} n\\ k \end{bmatrix} x^k,$$

are a special case of  $h_n(x, y|q)$  when y is set to zero, and (1.4) reduces to

$$\sum_{n=0}^{\infty} h_n(x|q) \frac{t^n}{(q;q)_n} = \frac{1}{(t,xt;q)_{\infty}}, \quad |t|, \ |xt| < 1.$$
(1.5)

The Rogers-Szegö polynomials play an important role in the theory of orthogonal polynomials, particularly in the study of the Askey-Wilson polynomials, see [1, 4, 6, 7, 15, 16, 19, 23]. They are closely related to the *q*-Hermite polynomials

$$H_n(x|q) = \sum_{k=0}^n {n \brack k} e^{i(n-2k)\theta}, \quad x = \cos\theta.$$

In fact, the following relation holds

$$H_n(x|q) = H_n(x;0|q) = e^{in\theta} h_n(e^{-2i\theta}|q), \quad x = \cos\theta.$$
(1.6)

The continuous big q-Hermite polynomials  $H_n(x; a|q)$  can be expressed explicitly in terms of the q-Hermite polynomials  $H_n(x|q)$  [5, 10]:

$$H_n(x;a|q) = \sum_{k=0}^n {n \brack k} (-1)^k q^{\binom{k}{2}} a^k H_{n-k}(x|q), \qquad (1.7)$$

whose inverse expansion takes the form

$$H_n(x|q) = \sum_{k=0}^n {n \brack k} a^k H_{n-k}(x;a|q).$$
(1.8)

Based on the recurrence relation for  $H_n(x|q)$ , Bressoud [7] gave a proof of Mehler's formula for the q-Hermite polynomials:

$$\sum_{n=0}^{\infty} H_n(x|q) H_n(y|q) \frac{t^n}{(q;q)_n} = \frac{(t^2;q)_{\infty}}{(te^{i(\theta+\beta)}, te^{-i(\theta-\beta)}, te^{i(\theta-\beta)}, te^{-i(\theta+\beta)};q)_{\infty}},$$
(1.9)

where  $x = \cos \theta$ ,  $y = \cos \beta$ . Ismail, Stanton and Viennot [16] found a combinatorial proof of (1.9) by using the vector space interpretation of the *q*-binomial coefficients. This paper is motivated by the natural question of finding Mehler's formula for  $H_n(x; a|q)$  which is an extension of the following formula for the Rogers-Szegö polynomials:

$$\sum_{n=0}^{\infty} h_n(x|q) h_n(y|q) \frac{t^n}{(q;q)_n} = \frac{(xyt^2;q)_\infty}{(t,xt,yt,xyt;q)_\infty}.$$
(1.10)

The formula (1.10) has been extensively studied, see [9, 15, 18, 19, 23, 24].

The second result of this paper is the Rogers formula for  $H_n(x; a|q)$ . The Rogers formula [9, 19, 20] for the Rogers-Szegö polynomials  $h_n(x|q)$  reads:

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_{n+m}(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} = (xst;q)_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_n(x|q) h_m(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m}.$$
 (1.11)

The equivalent form for the q-Hermite polynomials  $H_n(x|q)$  can be stated as

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} H_{n+m}(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} = (st;q)_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} H_n(x|q) H_m(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m}, \quad x = \cos\theta.$$
(1.12)

It turns out that Mehler's formula for  $H_n(x; a|q)$  (Theorem 2.2) involves a  $_3\phi_2$  sum, and the Rogers formula for  $H_n(x; a|q)$  (Theorem 3.2) involves a  $_2\phi_1$  sum. Our proofs rely on the *q*-exponential operator  $T(bD_q)$  as studied in [9] and the homogeneous *q*-shift operator  $\mathbb{E}(D_{xy})$ introduced by Chen, Fu and Zhang [8].

## 2. Mehler's Formula for $h_n(x, y|q)$

The main objective in this section is to derive Mehler's formula for  $H_n(x; a|q)$ . To this end, we first obtain Mehler's formula for the bivariate Rogers-Szegö polynomials  $h_n(x, y|q)$  introduced by Chen, Fu and Zhang [8].

**Theorem 2.1 (Mehler's Formula for**  $h_n(x, y|q)$ ). We have

$$\sum_{n=0}^{\infty} h_n(x, y|q) h_n(u, v|q) \frac{t^n}{(q;q)_n} = \frac{(yt, vxt; q)_{\infty}}{(t, xt, uxt; q)_{\infty}} \,_{3}\phi_2 \left(\begin{array}{c} y, xt, v/u\\ yt, vxt \end{array}; q, ut\right), \tag{2.1}$$

provided that |t|, |xt|, |ut|, |uxt| < 1.

Before we present the proof, we note that it is not difficult to reformulate the above theorem in terms of  $H_n(x; a|q)$ .

Theorem 2.2. We have

$$\sum_{n=0}^{\infty} H_n(x;a|q) H_n(y;b|q) \frac{t^n}{(q;q)_n} = \frac{(ate^{i\beta}, bte^{-i\theta};q)_{\infty}}{(te^{i(\theta+\beta)}, te^{-i(\theta-\beta)}, te^{-i(\theta+\beta)};q)_{\infty}} \times {}_{3}\phi_2 \left(\begin{array}{c} ae^{-i\theta}, te^{-i(\theta-\beta)}, be^{i\beta}\\ ate^{i\beta}, bte^{-i\theta}\end{array};q, te^{i(\theta-\beta)}\right),$$

 $provided \ that \ x = \cos \theta, \ y = \cos \beta \ and \ |te^{i(\theta+\beta)}|, |te^{i(\theta-\beta)}|, |te^{-i(\theta+\beta)}|, |te^{-i(\theta-\beta)}| < 1.$ 

*Proof.* Substituting (x, y) by  $(e^{-2i\theta}, ae^{-i\theta})$  and (u, v) by  $(e^{-2i\beta}, be^{-i\beta})$  in Theorem 2.1, we get

$$\sum_{n=0}^{\infty} h_n(e^{-2i\theta}, ae^{-i\theta}|q)h_n(e^{-2i\beta}, be^{-i\beta}|q)\frac{t^n}{(q;q)_n}$$
$$= \frac{(ate^{-i\theta}, bte^{-i(2\theta+\beta)};q)_{\infty}}{(t, te^{-2i\theta}, te^{-2i(\theta+\beta)};q)_{\infty}} \,_{3}\phi_2\left(\begin{array}{c} ae^{-i\theta}, te^{-2i\theta}, be^{i\beta}\\ ate^{-i\theta}, bte^{-i(2\theta+\beta)} ; q, te^{-2i\beta} \end{array}\right). \tag{2.2}$$

From (1.1) it follows that

$$h_n(e^{-2i\theta}, ae^{-i\theta}|q) = e^{-in\theta}H_n(w; a|q), \ w = \cos\theta,$$
  
$$h_n(e^{-2i\beta}, be^{-i\beta}|q) = e^{-in\beta}H_n(z; b|q), \ z = \cos\beta.$$

Substituting the above relations into (2.2), we see that

$$\begin{split} \sum_{n=0}^{\infty} H_n(w;a|q) H_n(z;b|q) \frac{(te^{-i(\theta+\beta)})^n}{(q;q)_n} \\ &= \frac{(ate^{-i\theta}, b\,te^{-i(2\theta+\beta)};q)_{\infty}}{(t,te^{-2i\theta},te^{-2i(\theta+\beta)};q)_{\infty}} \, {}_{3}\phi_2 \left( \begin{array}{c} ae^{-i\theta}, te^{-2i\theta}, be^{i\beta} \\ ate^{-i\theta}, b\,te^{-i(2\theta+\beta)} ; q, te^{-2i\beta} \end{array} \right) \end{split}$$

Making the substitutions  $t \to t e^{i(\theta+\beta)}$ ,  $w \to x$  and  $z \to y$ , we complete the proof.

Setting a = 0 and b = 0, the above theorem becomes Mehler's formula (1.9) for the q-Hermite polynomials. To prove Theorem 2.1 we need some identities (Lemmas 2.3, 2.4 and 2.5) in connection with the q-exponential operator and the homogeneous q-shift operator.

The q-differential operator, or the q-derivative, acting on the variable a, is defined by

$$D_q f(a) = \frac{f(a) - f(aq)}{a},$$

and the q-exponential operator is given by

$$T(bD_q) = \sum_{n=0}^{\infty} \frac{(bD_q)^n}{(q;q)_n}.$$

Evidently,

$$T(D_q)\{x^n\} = h_n(x|q).$$
 (2.3)

Lemma 2.3. We have

$$T(bD_q)\left\{\frac{(av;q)_{\infty}}{(as,at;q)_{\infty}}\right\} = \frac{(bv;q)_{\infty}}{(as,bs,bt;q)_{\infty}} {}_2\phi_1\left(\begin{array}{c} v/t,bs\\bv\end{array};q,at\right),$$
(2.4)

provided that |bs|, |bt| < 1.

*Proof.* Zhang and Wang [25] have established the following identity:

$$T(bD_q)\left\{\frac{(av;q)_{\infty}}{(as,at,aw;q)_{\infty}}\right\} = (av,bv;q)_{\infty}\frac{(abstw/v;q)_{\infty}}{(as,at,aw,bs,bt,bw;q)_{\infty}} \times {}_{3}\phi_2\left(\begin{array}{c}v/s,v/t,v/w\\av,bv\end{array};q,abstw/v\right),$$
(2.5)

where |bs|, |bt|, |bw|, |abstw/v| < 1. Setting w = 0 in (2.5) and using Jackson's transformation [11, III. 4] and Heine's transformation [11, III. 1], we obtain the claimed identity.

With the aid of the above lemma, we may reach the following identity.

Lemma 2.4. We have

$$\sum_{n=0}^{\infty} h_n(x, y|q) h_n(z|q) \frac{t^n}{(q;q)_n} = \frac{(yt;q)_\infty}{(xzt, xt, t;q)_\infty} \,_2\phi_1\left(\begin{array}{c} y, xt\\ yt \end{array}; q, zt\right),\tag{2.6}$$

provided that |t|, |xt|, |zt|, |xzt| < 1.

*Proof.* Applying (1.4), (2.3) and (2.4), we have

$$\begin{split} &\sum_{n=0}^{\infty} h_n(x, y|q) h_n(z|q) \frac{t^n}{(q;q)_n} \\ &= \sum_{n=0}^{\infty} h_n(x, y|q) T(D_q) \left\{ z^n \right\} \frac{t^n}{(q;q)_n} \\ &= T(D_q) \left\{ \sum_{n=0}^{\infty} h_n(x, y|q) \frac{(zt)^n}{(q;q)_n} \right\} \quad (|zt| < 1, \ |xzt| < 1) \\ &= T(D_q) \left\{ \frac{(yzt;q)_{\infty}}{(xzt, zt;q)_{\infty}} \right\} \quad (|t| < 1, \ |xt| < 1) \\ &= \frac{(yt;q)_{\infty}}{(xzt, xt, t;q)_{\infty}} \ _2\phi_1 \left( \begin{array}{c} y, xt \\ yt \end{array}; q, zt \right), \end{split}$$

as desired.

In [8], Chen, Fu and Zhang defined the homogeneous q-difference operator

$$D_{xy}f(x,y) = \frac{f(x,q^{-1}y) - f(qx,y)}{x - q^{-1}y}$$

and the homogeneous q-shift operator

$$\mathbb{E}(D_{xy}) = \sum_{k=0}^{\infty} \frac{D_{xy}^k}{(q;q)_k}$$

The following basic facts have been observed in [8]:

$$D_{xy}\{P_n(x,y)\} = (1-q^n)P_{n-1}(x,y),$$
  

$$\mathbb{E}(D_{xy})\{P_n(x,y)\} = h_n(x,y|q).$$
(2.7)

Lemma 2.5. We have

$$\mathbb{E}(D_{xy})\left\{\frac{(yt;q)_{\infty}}{(xt;q)_{\infty}}\frac{P_n(x,y)}{(yt;q)_n}\right\} = \frac{(yt;q)_{\infty}}{(t,xt;q)_{\infty}}\sum_{k=0}^n \binom{n}{k}\frac{(y,xt;q)_k}{(yt;q)_k}x^{n-k},$$

provided that |t|, |xt| < 1.

*Proof.* The left hand side of (2.6) equals

$$\begin{split} &\sum_{n=0}^{\infty} \mathbb{E}(D_{xy}) \left\{ P_n(x,y) \right\} h_n(z|q) \frac{t^n}{(q;q)_n} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x,y) h_n(z|q) \frac{t^n}{(q;q)_n} \right\} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x,y) \sum_{k=0}^{n} {n \brack k} z^k \frac{t^n}{(q;q)_n} \right\} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{k=0}^{\infty} \left( \sum_{n=0}^{\infty} P_n(x,q^ky) \frac{t^n}{(q;q)_n} \right) P_k(x,y) \frac{(zt)^k}{(q;q)_k} \right\} \\ &= \sum_{k=0}^{\infty} \frac{(zt)^k}{(q;q)_k} \mathbb{E}(D_{xy}) \left\{ \frac{(yt;q)_\infty}{(xt;q)_\infty} \frac{P_k(x,y)}{(yt;q)_k} \right\}, \end{split}$$

where |t|, |xt|, |zt|, |zxt| < 1. Employing Euler's identity [11, II.1] to expand  $1/(zxt;q)_{\infty}$  on the right hand side of (2.6), we get

$$\sum_{k=0}^{\infty} \frac{(zt)^k}{(q;q)_k} \mathbb{E}(D_{xy}) \left\{ \frac{(yt;q)_{\infty}}{(xt;q)_{\infty}} \frac{P_k(x,y)}{(yt;q)_k} \right\} = \frac{(yt;q)_{\infty}}{(t,xt;q)_{\infty}} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(y,xt;q)_n}{(q,yt;q)_n} \frac{z^{n+k}t^{n+k}x^k}{(q;q)_k}.$$

Comparing the coefficients of  $z^n$ , we complete the proof.

We are now ready to present the proof of Theorem 2.1.

*Proof.* From (2.7) it follows that

$$\begin{split} &\sum_{n=0}^{\infty} h_n(x, y|q) h_n(u, v|q) \frac{t^n}{(q; q)_n} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x, y) h_n(u, v|q) \frac{t^n}{(q; q)_n} \right\} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x, y) \frac{t^n}{(q; q)_n} \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix} P_k(u, v) \right\} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{k=0}^{\infty} P_k(u, v) P_k(x, y) \frac{t^k}{(q; q)_k} \left( \sum_{n=0}^{\infty} P_n(x, q^k y) \frac{t^n}{(q; q)_n} \right) \right\} \quad (|xt| < 1) \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{k=0}^{\infty} P_k(u, v) P_k(x, y) \frac{t^k}{(q; q)_k} \frac{(q^k yt; q)_\infty}{(xt; q)_\infty} \right\} \\ &= \sum_{k=0}^{\infty} P_k(u, v) \frac{t^k}{(q; q)_k} \mathbb{E}(D_{xy}) \left\{ \frac{(yt; q)_\infty}{(xt; q)_\infty} \frac{P_k(x, y)}{(yt; q)_k} \right\} \quad (|t|, |xt| < 1). \end{split}$$

By Lemma 2.5, the above summation equals

$$\frac{(yt;q)_{\infty}}{(t,xt;q)_{\infty}}\sum_{k=0}^{\infty}P_k(u,v)\frac{t^k}{(q;q)_k}\sum_{j=0}^k \binom{k}{j}\frac{(y,xt;q)_j}{(yt;q)_j}x^{k-j}.$$

Exchanging the order of summations, we get

$$\frac{(yt;q)_{\infty}}{(t,xt;q)_{\infty}} \sum_{j=0}^{\infty} P_{j}(u,v) \frac{(y,xt;q)_{j}}{(q,yt;q)_{j}} t^{j} \sum_{k=0}^{\infty} \frac{(xt)^{k} P_{k}(u,q^{j}v)}{(q;q)_{k}} \quad (|uxt| < 1)$$

$$= \frac{(yt,vxt;q)_{\infty}}{(t,xt,uxt;q)_{\infty}} \sum_{j=0}^{\infty} P_{j}(u,v) \frac{(y,xt;q)_{j}}{(q,yt,vxt;q)_{j}} t^{j}$$

$$= \frac{(yt,vxt;q)_{\infty}}{(t,xt,uxt;q)_{\infty}} \ _{3}\phi_{2} \left( \begin{array}{c} y,xt,v/u\\yt,vxt \end{array};q,ut \right) \quad (|ut| < 1).$$

This completes the proof.

Obviously, Mehler's formula (1.10) for the Rogers-Szegö polynomials can be deduced from Theorem 2.1 by setting y = 0, v = 0 and u = y.

## **3.** The Rogers Formula for $h_n(x, y|q)$

In this section, we obtain the Rogers formula (Theorem 3.1) for the bivariate Rogers-Szegö polynomials  $h_n(x, y|q)$  using the operator  $\mathbb{E}(D_{xy})$  and the technique of parameter augmentation [8, 9]. This formula can be readily restated in terms of the continuous big q-Hermite polynomials  $H_n(x; a|q)$  (Theorem 3.2).

**Theorem 3.1 (The Rogers Formula for**  $h_n(x, y|q)$ ). We have

$$\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_{n+m}(x, y|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} = \frac{(ys;q)_\infty}{(s, xs, xt;q)_\infty} \, _2\phi_1 \left(\begin{array}{c} y, xs \\ ys \end{array}; q, t\right), \tag{3.1}$$

provided that |t|, |s|, |xt|, |xs| < 1.

*Proof.* By (2.7), we have

$$\begin{split} &\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_{n+m}(x, y|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} P_{n+m}(x, y) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} \right\} \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x, y) \frac{t^n}{(q;q)_n} \left( \sum_{m=0}^{\infty} P_m(x, q^n y) \frac{s^m}{(q;q)_m} \right) \right\} \quad (|xs| < 1) \\ &= \mathbb{E}(D_{xy}) \left\{ \sum_{n=0}^{\infty} P_n(x, y) \frac{t^n}{(q;q)_n} \frac{(q^n ys;q)_\infty}{(xs;q)_\infty} \right\} \end{split}$$

$$= \sum_{n=0}^{\infty} \frac{t^n}{(q;q)_n} \mathbb{E}(D_{xy}) \left\{ \frac{(ys;q)_{\infty} P_n(x,y)}{(xs;q)_{\infty} (ys;q)_n} \right\} \quad (|s| < 1, \ |xs| < 1).$$

Applying Lemma 2.5, we get

$$\begin{aligned} \frac{(ys;q)_{\infty}}{(s,xs;q)_{\infty}} \sum_{n=0}^{\infty} \frac{t^{n}}{(q;q)_{n}} \sum_{k=0}^{n} {n \brack k} \frac{(y,xs;q)_{k}}{(ys;q)_{k}} x^{n-k} \\ &= \frac{(ys;q)_{\infty}}{(s,xs;q)_{\infty}} \sum_{k=0}^{\infty} \frac{(y,xs;q)_{k}}{(q,ys;q)_{k}} t^{k} \sum_{n=0}^{\infty} \frac{(xt)^{n}}{(q;q)_{n}} \quad (|xt|<1) \\ &= \frac{(ys;q)_{\infty}}{(s,xs,xt;q)_{\infty}} \sum_{k=0}^{\infty} \frac{(y,xs;q)_{k}}{(q,ys;q)_{k}} t^{k} \\ &= \frac{(ys;q)_{\infty}}{(s,xs,xt;q)_{\infty}} \ _{2}\phi_{1} \left( \begin{array}{c} y,xs\\ ys \end{array};q,t \right) \quad (|t|<1), \end{aligned}$$

as desired.

Clearly, the Rogers formula (1.11) for  $h_n(x|q)$  is the special case of (3.1) when y = 0. The following theorem is the Rogers formula for  $H_n(x; a|q)$  which contains (1.12) as a special case for a = 0.

Theorem 3.2. We have

$$\begin{split} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} H_{n+m}(x;a|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} &= \frac{(as;q)_{\infty}}{(se^{i\theta},se^{-i\theta},te^{-i\theta};q)_{\infty}} \\ &\times _2\phi_1 \left(\begin{array}{c} ae^{-i\theta},se^{-i\theta}\\ as\end{array};q,te^{i\theta}\right), \end{split}$$

where  $x = \cos \theta$  and  $|te^{i\theta}|, |se^{i\theta}|, |te^{-i\theta}|, |se^{-i\theta}| < 1.$ 

The following special case of Theorem 3.1 for y = 0 will be useful to verify the relation (3.4) between  $h_n(x|q)$  and  $h_n(x, y|q)$ .

Theorem 3.3. We have

$$\sum_{k=0}^{\min\{n,m\}} {n \brack k} {m \brack k} (q;q)_k x^k h_{n+m-2k}(x|q) = \left(\sum_{k=0}^n {n \brack k} y^k h_{n-k}(x,y|q)\right) \left(\sum_{j=0}^m {m \brack j} y^j h_{m-j}(x,y|q)\right), \quad (3.2)$$

provided that  $|x|, |y| < \infty$ .

*Proof.* Setting y = 0 in Theorem 3.1, by the Cauchy identity (1.3) and (1.4), we have

$$\begin{split} &\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_{n+m}(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} \\ &= \frac{1}{(s,xs,xt;q)_{\infty}} \sum_{k=0}^{\infty} \frac{(xs;q)_k}{(q;q)_k} t^k \quad (|t| < 1) \\ &= \frac{(xst;q)_{\infty}}{(ys,yt;q)_{\infty}} \frac{(yt;q)_{\infty}}{(t,xt;q)_{\infty}} \frac{(ys;q)_{\infty}}{(s,xs;q)_{\infty}} \quad (|t|,|s|,|xt|,|xs| < 1) \\ &= \frac{(xst;q)_{\infty}}{(ys,yt;q)_{\infty}} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_n(x,y|q) h_m(x,y|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m}, \end{split}$$

which can be rewritten as

$$\frac{1}{(xst;q)_{\infty}} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_{n+m}(x|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m} \\ = \frac{1}{(yt,ys;q)_{\infty}} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} h_n(x,y|q) h_m(x,y|q) \frac{t^n}{(q;q)_n} \frac{s^m}{(q;q)_m},$$

where |t|, |s|, |xt|, |xs| < 1.

Assuming that |xst|, |yt|, |ys| < 1, we can expand  $1/(xst; q)_{\infty}$ ,  $1/(yt; q)_{\infty}$  and  $1/(ys; q)_{\infty}$ by Euler's identity. By comparing the coefficients of  $t^n s^m$ , we obtain (3.2). Since |t|, |s|, |xt|, |xs| < 1 and |xst|, |yt|, |ys| < 1, we see that |x| and |y| must be finite.

When y = 0, (3.2) reduces to the well-known linearization formula [7, 15, 21] for  $h_n(x|q)$ :

$$h_n(x|q)h_m(x|q) = \sum_{k=0}^{\min\{n,m\}} {n \brack k} {m \brack k} {q;q}_k x^k h_{n+m-2k}(x|q), \quad |x| < \infty.$$
(3.3)

Setting m = 0 in (3.2), we are led to the following relation between  $h_n(x|q)$  and  $h_n(x, y|q)$ :

$$h_n(x|q) = \sum_{k=0}^n {n \brack k} y^k \ h_{n-k}(x,y|q), \quad |x|, |y| < \infty.$$
(3.4)

The inverse expansion for (3.4) is

$$h_n(x,y|q) = \sum_{k=0}^n {n \brack k} (-1)^k q^{\binom{k}{2}} y^k h_{n-k}(x|q), \quad |x|, |y| < \infty.$$
(3.5)

Note that (3.4) and (3.5) are equivalent to the relations (1.8) and (1.7) between  $H_n(x|q)$  and  $H_n(x;a|q)$ .

Acknowledgments. We would like to thank Vincent Y. B. Chen and Nancy S. S. Gu for helpful comments. This work was supported by the 973 Project on Mathematical Mechanization, the Ministry of Science and Technology, the Ministry of Education and the National Science Foundation of China.

#### References

- W. A. Al-Salam and M. E. H. Ismail, q-Beta integrals and the q-Hermite polynomials, Pacific J. Math. 135 (1988) 209–221.
- [2] G. E. Andrews, On the foundations of combinatorial theory, V: Eulerian differential operators, *Stud. Appl. Math.* **50** (1971) 345–375.
- [3] G. E. Andrews, Basic hypergeometric functions, SIAM Rev. 16 (1974) 441–484.
- [4] R. Askey and M. E. H. Ismail, A generalization of ultraspherical polynomials, In: "Studies in Pure Mathematics", P. Erdös, Ed., Birkhäuser, Boston, MA, 1983, pp. 55–78.
- [5] M. K. Atakishiyeva and N. M. Atakishiyev, Fourier-Gauss transforms of the continuous big q-Hermite polynomials, J. Phys. A: Math. Gen. 30 (1997) L559–L565.
- [6] N. M. Atkishiyev and Sh. M. Nagiyev, On Rogers-Szegö polynomials, J. Phys. A: Math. Gen. 27 (1994) L611–L615.
- [7] D. M. Bressoud, A simple proof of Mehler's formula for q-Hermite polynomials, Indiana Univ. Math. J. 29 (1980) 577–580.
- [8] W. Y. C. Chen, A. M. Fu and B. Y. Zhang, The homogeneous q-difference operator, Adv. Appl. Math. 31 (2003) 659–668.
- [9] W. Y. C. Chen and Z. G. Liu, Parameter augmenting for basic hypergeometric series, II, J. Combin. Theory, Ser. A 80 (1997) 175–195.
- [10] R. Floreanini, J. LeTourneux and L. Vinet, More on the q-oscillator algebra and qorthogonal polynomials, J. Phys. A: Math. Gen. 28 (1995) L287–L293.
- [11] G. Gasper and M. Rahman, Basic Hypergeometric Series, Cambridge University Press, Cambridge, MA, 1990.
- [12] J. Goldman and G.-C. Rota, On the foundations of combinatorial theory, IV: Finite vector spaces and Eulerian generating functions, *Stud. Appl. Math.* 49 (1970) 239–258.
- [13] I. P. Goulden and D. M. Jackson, Combinatorial Enumeration, John Wiley, New York, 1983.
- [14] E. C. Ihrig and M. E. H. Ismail, A q-umbral calculus, J. Math. Anal. Appl. 84 (1981) 178–207.
- [15] M. E. H. Ismail and D. Stanton, On the Askey-Wilson and Rogers polynomials, Canad. J. Math. 40 (1988) 1025–1045.
- [16] M. E. H. Ismail, D. Stanton and G. Viennot, The combinatorics of q-Hermite polynomials and the Askey-Wilson integral, *European J. Combin.* 8 (1987) 379–392.
- [17] W. P. Johnson, q-Extensions of identities of Abel-Rothe type, Discrete Math. 159 (1995) 161–177.

- [18] B. K. Karande and N. K. Thakare, On certain q-orthogonal polynomials, Indian J. Pure Appl. Math. 7 (1976) 728–736.
- [19] L. J. Rogers, On a three-fold symmetry in the elements of Heine's series, Proc. London Math. Soc. 24 (1893) 171–179.
- [20] L. J. Rogers, On the expansion of some infinite products, Proc. London Math. Soc. 24 (1893) 337–352.
- [21] L. J. Rogers, Third memoir on the expansion of certain infinite products, Proc. London Math. Soc. 26 (1895) 15–32.
- [22] S. Roman, The theory of the umbral calculus, I, J. Math. Anal. Appl. 87 (1982) 58–115.
- [23] D. Stanton, Orthogonal polynomials and combinatorics, In: "Special Functions 2000: Current Perspective and Future Directions", J. Bustoz, M. E. H. Ismail and S. K. Suslov, Eds., Kluwer, Dorchester, 2001, pp. 389–410.
- [24] Z. Z. Zhang and M. Liu, Applications of operator identities to the multiple q-binomial theorem and q-Gauss summation theorem, *Discrete Math.* **306** (2006) 1424–1437.
- [25] Z. Z. Zhang and J. Wang, Two operator identities and their applications to terminating basic hypergeometric series and q-integrals, J. Math. Anal. Appl. **312** (2005) 653–665.